1.1 < ¢®> < 6.0GeV?/ct

15.0 < ¢® < 19.0 GeV?/c*

139 0.690 79935 +0.017 0.344 10028 +0.008
Ss 0.01273938 +£0.004  —0.163 75933 +0.009
Sy | —0.1557095% +0.004 —0.284 0-05% £0.007
Ss | —0.023 0555 +0.005 —0.325 15036 4 0.009
Apg | —0.075 75932 +0.007 0.355 70 0% £ 0.009
Sy | —0.077T35% +0.006 0.048 70573 +0.006
Ss 0.028 T9-038 + 0.008 0.028 70592 +0.003
Sy | —0.06473912 +0.004  —0.05373939 + 0.002
Py 0.080 1345 £ 0.044 —0.497 70092 £ 0.027
Py | —0.16275072 +0.010 0.361 70525 +0.010
Ps 0.205 79135 +0.017 0.081 7059 & 0.005
P, | —0.33610135 £0.012 —0.597 10058 £ 0.015
P, | —0.049 10107 4+ 0.014 —0.684 19-078 4 0.020
Py | —0.166 73198 +0.021 0.101 7099 £ 0.011
P} 0.060 T5122 +0.009 0.059 10093 +0.008
Az | —0.072 70938 4+ 0.004 —0.035 10015 £ 0.010
Ay 0.012 75037 + 0.005 —0.079 15915 £ 0.008
As | —0.044 75919 +0.005 —0.03510:047 £ 0.010
Ag 0.020 73961 +£0.009  —0.110 5322 + 0.013
Az | —0.045 0535 +0.006 —0.040 504> 4 0.006
Ag | —0.047 73538 +0.008 0.025 70518 +0.003
Ag | —0.033 70999 4 0.004 0.061 70533 +0.002



